PRACTICE PAPER - 1(SESSION 2021-22)
Class-XI
SUBJECT: CHEMISTRY
Time: 1 “Hrs. M.M.:35

1. Ig 9T 99 dieT @usr # fasniaia gl
2.Q@Us A H 25 U §,35 T 20 92 FA &l
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5. THT YT AT 3 & gl

6. SIg RUMcHS FHodlhsl sTal ol

GENERAL INSTRUCTIONS
1. The question paper contains three sections.

2. Section A has 25 questions, Attempt any 20 questions.
3. Section B has 24 questions, attempt any 20 questions.

4.Section C has 6(Six)questions, attempt any 5 questions.
5. All questions carry equal marks.
6. There is no negative marking.

gus-A
s @us H &g §f 20 9o T IHT ke & Ty 25
SgiashedIa 9T &l fohdl fFufa & arfdd uealt i dear &
8 9o fohT ST 8 o shael TUH 20 9o & Hodiehed &
forr Ao gl
This section consists of 25 questions of multiple choice with overall
choice to attempt any 20 questions.In case more than desirable

number of questions are attempted only first 20 questions will be
considerd for evaluation.

1. ST FateR T A Gaa B



a. 3[hR
b. 3P
c. fa=amg
d. dehUl
The magnetic quantum number is related to:
a. Size
b. Shape
c. Orientation
d. Spin
2. 1.4 g FTIZCIoH 19 H URATIST &I TB ¢ |
a. 6.02 x 10
b. 3.01 x 10
c. 1.20x 10%
d. 6.02x 10%
The number of atoms in 1.4 g nitrogen gas is:
a. 6.02 x 10*
b. 3.01 x 10
c. 1.20x 10%
d. 6.02x 10%

3. [ T T B T SdH SMHR IQdT 82
a. Na
b. Na”
c. Mg
d. Mg *
Which of the following has largest size?

a. Na
b. Na”



c. Mg
d. Mg *

4. T 30 gRT T3P T USRI S St B
d. CC|4
b. PCls
C. Xer

d. CIF3
“T” shape is exhibited by the molecule:

d. CC|4

b. PCls
C. Xer

d. CIF3
5. forest B QY DI I 13S0 8¢ e [T 87
a. NHs
b. H,O
c. CH4
d. HF
Which of the following does not has H-bonding?
a. NHs
b. H,O
c. CH4
d. HF
6. T AT & Mn ST SHRIHRUT TR T 82
a. MnO,

b. KzMnO4
c. MnOs3



d. KMnOQy
In which compound ‘Mn’ shows highest oxidation State?
a. MnO,
b. K;MnO4
c. MnOs3
d. KMnOQ,
7. o o IUTRA Riar aur Urg’ S &) S HH: g
a. 6,3
b. 3,6
c. 12,3
d. 3,12

The number of ‘Sigma’ and ‘pie’ bonds present in benzene respectively
are:-

a. 6,3
b. 3,6
c. 12,3
d. 3,12

8. CHy-CHy-CHO TIT CH- ¢ - CHs%-

a. ThaTH® gHTITA!
b. RUfT THTITdt
c. 99l gHTGT!
d. HeITagd!
CH5-CH,-CHO and CHg-ﬁ-CHgare:
O

a. Functional isomers
b. Position isomers



c. Chain isomers
d. Metamers

9. BeF,®1 [§8d Ul X[ BIdT § SIaidh H,0PT [g8d 3Teul §IdT §

Hifdy:

a. Od (H,0) T Bl

b. ST (H,0) ST §3MT Bl

C. Berﬁ H- W@@Hﬁ@ﬁ%l

d. H,0 ¥ H- §¢ 3UTd gid gl
BeF, has zero dipole moment whereas H,O has a dipole moment
because:

a. Water (H,0) is linear.

b. H,O is bent.

c. Absence of H-bonding in BeF,.
d. H-bonding is present in H,0.

10. =T IUSI & fhgept Sl FgdH g2

a. 3d
b. 4p
c. 4s
d. 4f
Out of the following subshells, which is having lowest energy:-
a. 3d
b. 4p
c. 4s
d. 4f
11.F, Cl, P,N dcdl Dl &M I8d g, 37! IRANUID 3MDhR D] Tg!
W%:



a. F>CI>P>N

b. P>CI>N>F

c. P>CI>F>N

d. CI>P>N>F
Considering the elements F, Cl, P and N, the correct order of their
atomic size is:

a. F>CI>P>N

b. P>CI>N>F

c. P>CI>F>N

d. CI>P>N>F

12. =T & 9 B9 91 31fpdy QT 82

a. CH;-CH'-CH;
b. CH3-C'-CH;
Hs
c. CH,=CH-CH",
d. CH; -CH",
Which of the following is most stable?
a. CH;-CH'-CH;
b. CH3-C*-CH;
Hs
c. CH,=CH-CH",
d. CH;-CH",
13. fo1#=T &1 IUPAC -TH &-

CH,-CH,

x

HsC CHs,



a.1,1-STRATIT-3-TRIS ATsaaied
b.3,3-STeHUT- 1-TRIT AT
¢.3-TRT-1,1-SRART ASacdiga
d. 1-UFd -3,3- SRARNT Asadeda-

The IUPAC name of the following:

CH,-CH,

H;C CH;
a. 1,1 Dimethyl-3-ethylcyclohexane
b. 3,3- Dimethyl-1-ethylcyclohexane

c. 3- Ethyl-1,1- dimethylcyclohexane
d. 1-Ethyl-3,3- dimethylcyclohexane

14. B2 S0 & b THRITHAS | g gl aidl &7

a. SICRIH

b. Hifcaw

c. fefeam

d. SWRIF g4I

Which isotopes of Hydrogen has no neutrons?

a. Deuterium

b. Protium

c. Tritium

d. all of these

15. faet H T D9 91 THHR1 € Siveh gRT UdTfad foam mar ut?



a.1=2
h

h
b.1=—
mv

_  h
c.0=-
p

a.r=2
h
h
b.1=—
mv
__h
C.0=-—
P

16. vt o T BIF AT SR ST g2
a. F,+H,0 — 2HF +%02
b. 2H,0, —* 2H,0+ 0,
c. 2KCIO3  _heat , 2KCl +30,
d. CH4+20; heat | CO, + 2H,0
Which of the following is a disproportionation reaction?
a. F,+H,O — 2HF +%02
b. 2H,0, —* 2H,0+0,
c. 2KCIO3  _heat , 2KCIl +30,
d. CHy+20; heat | CO, + 2H,0
17. 3UY/3ATT AT FaaeH el Y&l 6-
a. Ny
b. 0,°



c. B,
d. 0,

The molecule/ion not containing unpaired electron is:
a. N,
b. 0,”
c. B,
d. 0,

18. 4p HEDH] H o IS P UBAT G-

a. 1
b. 2
c. 3
d. 4

Number of radial nodes in 4p orbitals is:
a. 1
b. 2
c. 3
d. 4

19. 3R & H[FTSS DT ATUTd! G ATd DIfoTE foaH SRR
T fg TR o1 SogaT Ufa=Id HH:69.9 %aYT 30.1%8]
feaT TR TRYTY] YR Fe=56 g/mol, O=16 g/mol

a. Fe30q4
b. FeO,
c. FeO

d. Fe,0;

Determine the empirical formula of an oxide of iron which has
69.9 % iron and 30.1% dioxygen by mass:
Given Atomic weight of Fe= 56 g/mol

Atomic weight of O= 16 g/mol
d. F8304



b. FeOz
c. FeO
d. Fe203

20. T § O DI T13Mha! Rigid &1 Ura- Tal &l gl
110 111

2s 2p

L AL L]

2s 2p
C.
(R
2s 2p
d | 4 bt
2s 2p
Which of the following violates the Aufbau principle?
R 10N
2s 2p

b |1 | AL AL] !

2s 2p



10 t bt
2s 2p
] T
2s 2p
21. 3Tad RO H FH &1 R 9 R 9 & § &9 I1 ufkafdd
T8l gl 87
a. Ydd
b. RIS THR
c. ISl S
d. I Tt

Which of the following remains unchanged on moving down a
group in the periodic table?
a. Density
b. Atomic size
c. Valence electrons
d. lonization enthalpy
22. 934 DI Y &I Herh! BT AT gIft-
a. 9
b. 4
c. 32
d. 16
The number of orbitals associated with fourth shell will be:-
a. 9
b. 4
c. 32



d. 16
23. P H U ®F 9 g & dd 3Mad IRt H §ISSRS el a-rd

g7

a. ¥Hg 13

b. UHg 6,7,8

c. 4Hg 7,8,9

d. JHg 14
Elements of which of the following groups of periodic table do not
form hydrides?

a. Group 13

b. Group 6,7,8

c. Group 7,8,9

d. Group 14

24, B EEY I8 Wl § o Tat 1fe-

a. AP forg 3@5@:{ qiH
b. TGS DI HH!
c. a dYT bl
d. YATHDH A
Nucleophile is a species that should have:

a. a pair of electrons to donate

b. electron deficiency
c. Bothaandb
d. positive charge

25. fre=T H 9 ®IF T US ShIse o7

a. HIaRdl
b. AIATHA




c. ATl
d. % HIR/3HUd
Which of the following term is unitless?
a. Molarity
b. Mole fraction
c. Molality
d. % w/v
HUs-B

g WUS HIg Y 20 UY B & O fAbed &b 1Y 24 U QT
ot fufa & gifed Ui &t 9= ¥ 31fIs UY &1 IR Had UUH 20
gl IR gedich+ foauita g

This section consists of 24 multiple choice questions with overall choice
to attempt any 20 question.In case more than desisable number of
guestions are attempted, only first 20 questions will be considerd for
evaluation.

26. o1 T ¥ DI 1 I ST T 19l 82
2 ATEEIS
b.PRBRY
c. SiToT

d.HethX

Which of the following has highest ionization enthalpy?

a. Nitrogen
b. Phosphorus



c. Oxygen
d. Sulphur

27 Fqferd IAfA® ST & a,b,c TUTd THU § -

105 +al +bH"— cH,0 + dI;

a.5,6,3,3

b. 5,6,5,5

c.3,3,5,6

d. 3,5,3,6

In the balanced chemical reaction.
105 +al +bH— cH,0+dI,
a,b,c and d correspond to:-

a. 5,6,3,3
b. 5,6,5,5
c. 3,3,5,6
d. 3,5,3,6

28- ST YT §:-
a. CGHy
b. C3Hg

C. C4H10
d. C3Hg

Hyperconjugation is possible in:-

a. CGHy



b. CsHg
C. C4H10
d. C3He

29. Ty SifNfehar &1 I 7
CaC,+2D,0 —

d. CzDz
b. Co(OD),
C. CaD2
d. Ca(CD),

The product of the following reaction is :-

CaC, +2D,0 -

a. Cz D2

b. C,(OD),
c. Ca D2

d. Ca (CD),

30. 16 UTH RIS H 3+ &l 3U] 9T¢ S1d g fora- b -
a. CO % 16g H
b.N, &b 14g H
c. N, & 28g H
d. H, & 4.0g H
16g of oxygen has same number of molecules as in:
a. 16g of CO
b. 14g of N,
c. 28g of N,
d. 4.0g of H,

31. UM Saaci e fa=RT 1@ arel a1 &1 3 &



('Z', Cr, Mn, Fe Td cO & foTUg:- 24, 25, 26 3R 27)

a. Cr** Fe*
b. Fe®" Mn?"
c. Fe**.Co**
d. Fe** Mn?*

The pair of ions having same electronic configuration is ("Z' for Cr,

Mn, Fe and CO is 24 ,25,26 and 27)

a. Cr**, Fe*

b. Fe?*, Mn?*

c. Fe®*, Co”*

d. Fe>*, Mn**
32. AT 9= ¥ selac- e8! ! Ugdy -
i) NH3 i) BF3 i) NO," iv)H20O
a) (i) ddr (ii) b) (i) d¥YT(iii)
c) (iii) d¥I(iv) d) (i) d¥i(iv)
Identify the electrophile from the following set:
i) NH3 i) BF3 i) NO," iv) H.O
a) (i) and (ii) b) (ii) and (iii)
c) (iii) and (iv) d) (i) and (iv)

33. faea & T pI9T fab ey fRRAT & I8! 1 Bl guiar g 2

a. 0,>0,>0,"

b. Oz_ > Oz+> Oz



c.0,">0,>02
d. 0,>0,>0;"
Which of the following options represents the correct stability order:
a. 0,>0,>0,"
b.0, >0,> 0,
c.0,">0,>02

d.0,>0,>0,"

34. o1 H ¥ 1 1 HYF el Tal 67
a. N, BTSYHATE |
b. HF H gZgIoM §¢ U 9d & |
c. No* QU1 0,1 8¢ o H T 5

d. NH; Uepfd # ydig grar 2|
Out of the following which statement is incorrect?
a. Bond order of N, is three.
b. H-bonding is present in HF.
c. Bond order of N," and O, are different

d. NHsis polar in nature.

35, st SMfHfhaT & Ty o I8! Y= & Ugdng.-
SnCI2+2HgCI2 — SnCly +HgZCI2



a. SnCl, T HRNHRP &1 B B LT 5
b. HgCl, T UITTS 1 B B T g

c. SNCl, T SUARID BT B HR 5T 3
d. HgCl, 3{Tafieur H STl 3|
Identify the correct statement in relation to the following reaction:-
SnClx+2HgCl; ———SnCl, +Hg, Cl;
a) SnCl, is acting as an oxidant.
b) HgCl, is acting as a reductant.
c) SnCl, is acting as a reductant.

d) HgCl, undergoes oxidation.

36. fAUHH 1T AT BT ISERUT B -

o ., O
o, O

The example of a heterocyclic compound is:

a) @ b) G



c) O d) ©/

37. AU & fha Al & T8 q 22 UTH CO, UT B STl g 2
a) 1 HId b) 0.25 HIA
c) 2 Hid d) 0.5 Hid

How many moles of methane are required to produce 22g CO, (gas)
after combustion ?

a) 1 mole b) 0.25 mole
c) 2 mole d) 0.5 mole
38 T ANIDT & Tgd 31l T H g1 & T sRUT g -
a) D! YRR TToidhdl
b) T YJIH BT 0T
c) THP! I faggaBram
d) FH c-c I T

The reason for a very large number of carbon compounds is-

a) Its variable valency
b) Its property of catenation
c) Its high electronegativity

d) Less c-c bond enthalpy



39. 0.1 fHaU™ g™ 3R 100 HY / AHUS AT Y 7T HX Ig1 T
g o aureed o1 g

a) 6.62X 10°m b) 6.62X 10°"m
c) 6.62X 10**m d) 6.62X 10°%'m

The wavelength of a ball of mass 0.1 Kg, moving with a velocity of
100ms ™ is:

a) 6.62X 10" b) 6.62X 103"
c) 6.62X 107*™ d) 6.62X 107'™
40. C4Hg (Pad 3MEHI) F TATHS JHIGIA D BT §--
a) 2 b) 3
c) 4 d) 5

The number of structural isomers of C4Hg (only acyclic) is:
a) 2 b) 3

c) 4 d) 5

41.120 TRHY] hHich dTcd dcd BT IUPAC -TH TUT Ul g -

a)3ASTR AT ,Udn

b)3METRHaH, Ubl

¢) ST, Ubn
d) 3HHAMTIH, Unn

The IUPAC name and symbol for the element with Atomic number 120
is:-

a) Undinilium,Udn b) Unbinilium,Ubl

c) Unbinilium,Ubn d) Unnilnilium,Unn



42.2 - ST -3 - TR A -1 - A DI Tg! AT G -
a) CH;-CH-CH-CH,-OH
I|3r |CI
b) OHC-|CH-|CH-CH3
Cl Br
c) CH,-CH-CH,-Br
0 cho
d) CH5-CH-CH-CHO
lﬁl B|r
The correct structure of 2-Bromo-3-Chloro-butan-1-al is:
a) CH;-CH-CH-CH,-OH

|
Br ClI

b) OHC—|CH—|CH—CH3
Cl Br
c) CH,-CH-CH,-Br
Cl CI|-|O
d) CH;-CH-CH-CHO

|
Cl Br

43. FHRId & § F 1 sraicH ST & AT 6! 67



a) 1 1 +2
b) 3 4 2
c) 3 2 -2
d) 3 3 0

n I m;
a) 1 1 +2
b) 3 4 -2
c) 3 2 -2
d 3 3 0
44. U 31ad H I=aH Tfcdd 70T UG RId &1 Ol § & gRI-
a) &R1T 41 b) &1 T U1
c) 31fha T d) galorg
The maximum metallic character in a period is shown by :
a) alkali metals b) alkaline earth metals
c) inert gas d) halogens

45, 1 T HYUT ATUBYT (A) TUT SR (R) & AH I ST MW Bl
FHBYT (A): T -1 —37 qUT U -2 —3 fRUfq THTaTd 3l



gr\rm(R) FRufa garagdt ferarats THg &t Uahfd § 34 gid
|

+a fau U fasedl 9 I8t IR AT -

a) A TUT R ST I8 § 3R BRUN (R)SHUDHUT (A) BT w8} saren
RGN

b) A TUTR I Tal g dlfth- HRUT (R)MYHYUT (A) B Te!
R T51 6 |

c) A I8! ? Af (R) TTeid B

d) A TTTd & TUT BRUT (R) TE B
Assertion (A): Pent-1-ene and Pent-2-ene are position isomers.
Reason (R): Position isomers differ in the Nature of functional group.
Select the most appropriate answer from the options given below:

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) Ais true but R is false.

d) A is false but R is true.

46. T G HYF B YT (A) TUTHRU (R) S TH AT TTE -

BT (A): SATe T Al TAAT S BT TR ! Ja-T
®Y g Al Ao ¥ 31 ||

BRI (R) : dedl P T T 9 HA A Bt ©
N>O>F



= fdU ¢ fasheal ¥ Ig! IR gMAT -

a) ATUT R EHI Tal g IR BRUT (R)SHMNFHYT (AP Tl e
RGN

b) A TYUTR SHI el § i PRUN (R)SAUBYUT (A) B & Ra
T8l PRATS |

c) A Tgl g dfe (R)TTad & |

d) A Tdd & 9UT SR (R)Fe! 2

Given below are two statements labeled as Assertion (A) and
Reason(R).

Assertion(A): Electron gain enthalpy of Oxygen is less than that
of Fluorine but greater than Nitrogen.

Reason (R): lonization enthalpies of the elements follow the
order.

N>O>F
Select the most appropriate answer from the options given below:
a) Both A and R are true and (R) is the correct explanation of (A)

b) Both A and R are true but (R) is not the correct explanation of
(A)

c) A is true but (R) is false.
d) A is false but (R) is true.

47. 79 &1 Y B YT (A) TITHFRI(R) F AH I GT MW E -

DY (A): T SAdCH B U 1Y ol ol (U TUT FAT &1
fAufRor B Srva B




HRU (R) : T URATY | FoiaeH BT 9y [FaaT IR gidT g
= fau e fasmedt 9 gl IR giT -

a) ATYT REHI Tal g IR HRUT (R)SMMBHYT (AP G re
GGl

b) A TUTR I Tel § dfdh HRUT (R)MYHYUT (A) BT I
R T8l g |

c) A T8l g dfh R Tad g
d) A TTdd 8 YT HRUTR Tal g

Given below are two statements labeled as assertion (A) and
Reason(R) .

Assertion (A): It is impossible to determine the exact position and
momentum of an electron simultaneously.

Reason (R): The path of an electron in an atom is clearly defined.
Select the most appropriate answer from the options given below:
a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanation of A.
c) A is true but R is false.

d) A is false but R is true.

48. 19 & YT AfUBHYT (A) TUT BRI (R) F AH A RTTTE
TUHUT (A): BF; (U] & fged 3ol LI 8iaT §

HRUT (R) : F [agga»ir 8 auT B-F U UHfd A ¢dagid €|

e fau U faswedl @ It IR AT -



a) A TUT R G I8l § 3R BRUT (R)AHBUT (A)h! TEt AR
HAT B

b) A TUTR THI &I § Afh HRUN (R)ATUHYT (A) BT Tal
SRS 81

c) A Tgl g df (R)TTAd B
d) A TTeid & 9UT SRUT (R)Fe! B

Given below are two statements labeled as assertion (A) and
Reason(R) .

Assertion (A): BF3 molecule has zero dipole moment.

Reason (R): F is electronegative and B-F bonds are polar in
nature .

Select the most appropriate answer from the options given below:
a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanation of A.
c) Ais true but R is false.

d) A is false but R is true.
49. 79 &1 YT FHYT (A) TITHRI(R) F AH I T MW E -

YBHYT (A): T URHTY] SHHH HEHD Bl HIa -12 TRHAT &
SHAM & 1 /12 o YN & 3u HARHTG o Srar g

BRI (R): C -12 BT HT YR AET H TG o AT THRITHS 8
JUT TG D & U A AT AT § |

fa feu e faspeal | IE! IR gMAT -




a) ATUT RS Tal § MR HRUN (R)ANHYT (A)ST Tg!

RS BT g |

%%amRﬁW%WW(R)&WWWﬁWW
|

c) A Tgl g dfp-(R)Tad g

d) A TTdd & TYUT BRUT (R)Te! B

Given below are two statements labeled as assertion (A) and
Reason(R) .

Assertion (A): One atomic mass unit is defined as one twelfth of
the mass of carbon -12 atom.

Reason (R): Carbon-12 is the most abundant isotope of carbon
and has been chosen as standard.

Select the most appropriate answer from the options given below:
a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanation of A.
c) Ais true but R is false.

d) A is false but R is true.



WUs:C
SECTION C

9 WUE | Bis +ft Ui UY B & Y [dbed o 1Y Hol &: UH
feu ma g1 foreht Rufa o aifesa usll ot wem 1 31fie ue fe 5id €
dl oY" Ui vy g1 faaroiig gi

This section consists of 6 multiple questions with an overall
choice to attempt any 5 questions . In case more than desirable
questions are attempted only first five questions will be
considered for evaluation .

50. T Sifol

() SYdI I |(A) Os
i) 3P AH | (B) NH;

iy gEeHEY  [(C) H.

(iv) A (D) K2SOq4

e O ¥ oF 1 ey 3371 fia far mn fasea 3
a. (i)-A, (i)- D, (iii}- C, (iv)— B
b. (i) D, (ii)- B, (iii}- A, (iv)= C
c.  (i)-C, (ii)- D, (iii)- B, (iv) — A



d. (i)- C, (ii)- D, (iii)- A, (iv)—B
Match the following:

| |
(i) Non Polar molecule A. O3
(i lonic Compound B. NH;
(i) Hydrogen Bond C. H
(iv) Resonance D. KySO4

Which of the following is the best matched option?

a (i)- A, (ii)- D, (iii)- C, (iv)—B

b.  (i)-D, (ii)- B, (iii)- A, (iv) - C

c. (i)- C, (ii)- D, (iii)- B, (iv) — A

d. (i) C, (i)- D, (iii)- A, (iv)— B

51. 79 IuH &1 gui SIS -

TITHIBRUITHA BRQ1RS ; A &1 SRIHIDGUIHAY SRa8s (B
a. A Uid® TReES B. gUdNI® ERo2S
b. A. J3MUdd TRIRZS B. 3% TRIRS
c. A 3OF® TRIES B. Uifd® TR85S




d. A ufd® TRIES B . 3O g585S

Complete the following analogy:

Stoichiometric hydrides: A :: Non Stoichiometric hydrides:B

a. A. Metallic hydride B. Covalent hydrides
b.  A. Molecular hydride B. lonic hydrides

C. A. lonic hydride B. Metallic hydrides
d. A. Metallic hydride B. lonic hydrides

52. f%=1 H Q I Il IUATY Tl § 2
a. s-HED : Mg MBI :: p- D& : S MPid
b. 4s:dl A ARE ::3p:33fﬁﬁq:ﬁ_s’
c. TSN : 1s22s22p* :: 1A : : 1s225%2p°
d. s- HeD: MYBIH 2 IAaeH:: p- HED: : HUHAH 6 IdcH

Which of the following analogies is correct?

a. s- Orbital : Spherical Shape :: p- orbital: dumbbell Shape

b. 4s: Two radical note :: 3p : two radial node

c. Nitrogen : 1s?2s?2p*:: Neon :: 1s°2s%2p°

d. s-orbital : maximum 2 e :: p- orbital: : maximum 6 e’
fore=T TS $I UfeT dYUT UY HWT 53-55 H3R o8l
fRufd-1

HIEH®G AU T Sade @l [T a1 df WA ¥ gUIfad dad
3T 3faT YfaRITdT THE 3fUdT UG SMHHUGR] AHBHD Bl




SufRyfa & 8 Tohar g1 fordd! o] I forsft TR Srar uferiTdt I9g
& JUIG ¥ TG BT RIFIRUN ey T VTS Yaural 3dd Bl §
aifrmie FY IUFRURT 7 Rt o) B Iaua Sl gaaerT UuTa
gAd IR} UHTT Hed ol
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Read the passage given below and answer the following
questions 53 — 55.
Case-1

The electron displacement in an organic molecule may take
place either in the ground state under the influence of an
atom or a substituent group or in the presence of an
appropriate attacking reagent. The electron displacement
due to the influence of an atom or a substituent group
present in a molecule cause permanent polarization of the
bond. Temporary electron displacement effects are seen in a
molecule when a reagent approaches to attack it. This type
of electron displacement is called electromeric effect.



53. Polarization of sigma bond caused by the polarization of
adjacent sigma bond is called:

a) Resonance effect b) electromeric effect
c) Inductive effect d) Hyperconjugation

54. The polarity produced in the molecule by the interaction of two
1t bonds is called :

a) Inductive effect b) Hyperconjugation
c) electromeric effect d)Resonance effect
55. Which of the following shows +R effect?
a) Halogen (-X) b) —COOH (Carboxylic group)

c) —CHO (aldehyde) d) —NOy(nitro)



